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No. of Questions : 150

d
Time : 25 Hours Full Marks : 450

Note : (1) Attempt as many questions as you can. Each question carries 3
(Three) marks. One mark will be deducted for each incorrect
answer. Zero mark will be awarded for cach unattempted
question.

(2) If more than one alternative answers seem to be approximate to

the correct answer, choose the closest one.

01. Consider the following segment of C program :

int x, y, n;
x=1;
y=1
if(n>0)
X =24 I
else
y=y-1;

After execution of above program segment the value of x and y if n=1

1S :
(1) x=2,y=0 (2) =1,y=0

@) x=1y=1 4) x=2,y=1

3 P.T.O.
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02. Consider the following segment of C program :

03.

04.

ikl s
1=0;
for(1=0;1<=5;1=1+2/3)

f
1

= By

Tl

The number of umes the body of for loop 1s exccuted :
(1) 9 (2) 8
(3) infinite 4) 11

How many of the following declarations are correct ?
Int x ;
float letter, DIGIT ;
double = p, q
.m, n, z: INTEGER
long int m ; count ;
long float temp ;
(1) Three are correct (2) One 1s correct

(3) Two are correct (4) All six are incorrect

Consider the following :

() 0.0001 (i) 5z1.15 (i) 99999 (iv) +100  (v)74.45 E-2°
(vi) "15.75%" (vil) -45.6  (viil) =1.79 e+4 (ix) 0.00001234

The invalid constant are :
(1) i, v, vi, viil (2) 1,v

(3) i, viil, ix (4) i, iv, ix
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05. Consider the following logical expression :
(Ja>b|la<c (ia<b||a>c (lja==c&&b>a
(ivyb>5 || c<0&&a>0

~Ifa=5,b=10, and c = -6, then the value of expression are :
(1) F,T,F,T (2) F, T, T,T
(3) F,T,F,F (4) T,F,F,T

06. Consider the following segment of C program

main( )
{
intc=0,d=5,e=10, a;
a=c>1?d>1]||e>17?100:200: 300 :
printf ("a =% d" a) ;

What will be the output of the above program :
(I) a=100 (2) a=200
(3) a=300 4) a=0

07. Consider the following C segment :

Main( )

{
int j, x ;
x=0;

for (= 0; j < = 5; j++)
{
switch (j+ 1)

5 P.T.O.
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08.

case (O:

case — 1 :
b
break;

case 1:

H

casc 2:
case 3:
X+ =2;
break;
default:

x +=3;

printf (" % d", x);

‘The output of the above program :

(1) 1,2,4,6,8,11
(3) 2,4,6,9, 12, 15

Consider the following C program :
Main( )

int size = 5;
intarr[5]=4{1,2,3,4, S}
for (i=1;1 < = size; 1 ++)

in (i >3)

(2)
(4)

-1,0,1,2,3;,4
| P s T
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break;

else
printf ("\n % d ", arr [i] ) ;
continue ;

|

J

getch( );

}

The output of the program :
() 1,2,3,4,5 2 2:;8:%5
€ 1.2, 3 (4) 1,2, 3,

09. Consider the following C program :
Main( )
t
int num 1, num 2;
scanf (" % 2d % 5d", & num 1, & num 2);
printf (" % d % d", num 1, num 2) ;

|
J

If the data input to the program 31426 and 50, then the output will

be :
(1) 31426, 50 (2) 50, 31426
(3) 31,426 (4) 3142, 650

10. Consider the following C program :
main( )
{
int num 1, num 2, num 3 ;
scanf (" % d % *d%d", & num 1, & mun 2, & num 3) ;
printf ("% d % d ", num 1, num 2);

}
If 1tll'lg data input to the program 123, 456, and 789 then the output
will be :
(I) 123,789 (2) 123, 456
(3) 456, 789 (4) 12, 34

T P.T.O.
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11. Consider the following C program :
main( )

int a, val;

float b ;

char name [30] ;

val = scanf (" % d % [ % s", & a, & b, name) ;
printf (" % d", val) ;

[f the data input to the program is 20, motor, and 150.25 then the
output will be :

(1) 3 (2) 2
(3) O 4) 1

12. Consider the following C program :
main( )

1
i

printf (" % 06 d", 9876);

If input to the program is new delhi 110 002, then the output will be :
(1) 9876 (2) 009876
(3) 987600 (4) 09876

13. Consider the following segment of C program :
IBLE, T s
z=(x=10,y=5,x+y ++);
value of z and y after execution of t.he above segment 1s :

(1) z=15,y=95 (2) z=16,y=6
(3) z=15,y=6 (4) z=16,y=39



14.

15.

16.

i

18.

19.

16P/301/7

Minimum size of character array required to store word "WELLDONE" is :
(1) 1 2) 9 (3) 8 (4) 10

Consider the following declaration of array is C language :
float B [20] ;

The address of the first element of the array B is obtained by :
(1) B[O (2) &B
3) B (4) *B

Consider the following declaration of array is C language :
int B [20];

which expression gives the 10" element of the array :
(1) BI9] (2) *(B+9)
(3) *B[10] (4) (1) and (2) both

The C standard function used to convert the lower case string to upper
case and vice-versa is : '

(1) strlwr, strupr (2) strlr, strup
(3) lwrstr, uprstr (4) Irstr, upstr

The header file needed to include to use function isprint( ) and isspace( )
is :

(1) stdlib.h (2) stdio.h
(3) conio.h (4) math.h

Which statement is true ?

(1) * has higher precedence than/
(2) * has lower precedence/

(3) * and/have same precedence

(4) /is evaluated first and than *

9 P.T.O.
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20.

21.

22.

23.

24.

25.

Which 1s keyword in ANSI C ?
(1) long int (2) 1sdigit (3) strlen (4) sizeol

ANSI C keyword used to declare structure and union is :

(1) struct, union (2) typedef, union
(3) struct, enum (4) struct, typedef
In union :

(1) ecach member has common memory location

(2) each member has its own memory location

(3) same data type member share common memory space
(4) same data type member has its own memory

Consider the following ANSI union :
union item

int m;
float x;
char c;

Total memory location required to store any union variable of type
item is :

(1) 2 byte (2) 4 byte
(3) 6 byte (4) 7 byte

Which of the following file opening modes would destroy the file being
opened, if the file already exists on the disk ?

(1) "tb+" (2) "wb+"
(3) "ab+" (4) "r+

Which of the following functions is more versatile for positioning the
file pointer in a file ?

(1) fseek() (2) rewind( )

(3) ftell() (4) fpos()

10



26. Consider the following C program :
int i; '
1=1;
L=+ 2 ®aw
printf ( % d, i) ;
The output of the program will be :
(1) 3 (2] B (3) 2

27. Consider the following C program :
main( )

(
1

mtx=5;
printf (" % d % d%d\n", x, x << 2, x >> 2) ;

the output of the program will be :
(I) 5199 (2) 5 20 1
3) 516 5 -~ (4 5207

28. Consider the following C program :
main( )
'
int x = 20, y = 35;
X =yt £5++

y = ++y+ ++x;
Printf ("%d%d \n", x,y);

}

The output of the program will be :

(1) 55 93 (2) 56 94

(3) 57 94 (4) 57 93
11

16P/301/7

(4) 4
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29.

30.

Consider the following C program :

main( )

|
i

inti=0;
for (1=0;1<20;1++)

]
1

Switch(i)
case D :14+=

case 1 11+ =

N e U

case 5:1+ =
defaulti+ =4 ;

?

’
break ;

printf ("% d," ,1);

1

The output of the program will be : .
(1) 0,5,9,; I3;17 (2)
(3) 12, 17,22 (4)

Consider the following C program :
main( )

static1 = 3;
printf (" % d", 1--) ;
returni > 0 ? main( ) : O;

i
f

The output of the program will be :
(1) 321 (2)
(3) 000 (4)

12

5,9 13, 17

16, 21

333
111



31. Consider the following C program :
void main( )

inti=7;
printf (" % d", i++*i++) ;

1
I

The output of the program will be :
(1) 49 (2) 64 (3)

32. Consider the following C program :
main( )

inti=4,j=7;

J=J || i++ && printf (" YOU CAN");
printf (" % d % d", i, j) ;

}

“The output of the program will be :
(I) YOU CAN (2)
3 47 (4)

33. main()

i
1

inti=10,j=20;
if (i, j)

{

if (i,j)

155

else

i=J

13

4 0
4 1

(4)

16P/301/7

P.T.0.



16P/301/7

else

J=3 ;
printf (" % d%d",1, j);

H

The output of the program will be :

(1) 1020 (2) 2020
(3) 10 10 (4) 2010

34. Consider the lollowing C program :
#define prod ( a, b) a*b
main( )

i
1

intx=3,y=4;
printf (" % d", prod (x + 2,y - 1)) ;

L]
]

The output of the program will be :
(1) 12 : ' (2) 15
(3) 10 (4) 11

35. Consider the following C program :
void main( )

char a[ ] = "12345\0"

int 1 = strlen (a);

printf ( "here in 3 % d\n", ++1);

';_

The output of the program will be :

(1) herein 3 6 " (2) herein35
(3) herein37 (4) herein 3 8

14
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36. Consider the following C program :
main( )}
inta = 0; int b = 20; char x = 1; char y = 0;
if (a, b, x,y)
printf ( "hello” );
else
printf (" HELLO" )
The output of the program will be :
(I) hello (2) 1
(3) O (4) HELLO

37. Consider the following C program :
main( )

inti=5,j=6, z

printf (" % d", 1 +++j) ;

|

|

The output of the program will be :

(1) 12 B 2y 11
3)" 5+6 | | (4) 6

38. Consider the following C program :

main( )

f
1

int *j ;
I
L

inti= 10;

j=&i;

}

printf (" % d", * j);

b

The output of the program will be :

(1) 10 @) B

(3) 4 (4) Address of j

15 P.T.0.
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39.

40.

41.

42.

43.

Consider the following C program :

enum colors | BLACK, BLUE, GREEN }

main( )

\

printf (" % d.. % d..% d", BLACK, BLUE, GREEN);
return(l);

The output of the program will be :
(1) 012 (2) 012
(3) 0..1..2 (4) 1..2.3

Consider the following C program :
# define square(x) x*x
main( )

inti;
i = 64 /square (4);
printf (" % d", 1) ;

The output of the program will be : -

(1) 4 (2) 16
(3) 64 (4) 32

How many AND gates are required to realize Y = CD + EF + G
(1) 4 (2) 5
3) 3 4) 2

When simplified with Boolean Algebra ( x +y) ( x + z ) simplifies to :
(1) x (2) x+x(y+z)
(3) x(1+yz) (4) x+yz

What is the binary equivalent of the decimal number 368 :
(1) 101110000 (2) 110110000

(3) 111010000 (4) 111100000

16



44.

45.

46.

47.

48.

49.

S0.

S1.
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The decimal equivalent of hex number 1A53 is :
(1) 6793 (2) 6739

(3) 6973 (4) 6379
(FB34 =1 )i

(1) €1D (2) DC1
(3) 1CD (4 1DC

EPROM contents can be erased by exposing it 1o :

(1) Ultraviolet ravs (2) Infrared ravs

(3) Burst of microwaves (4) Intense heat radiations
The hexadecimal number 'AQ' has the decimal value equivalent to :
(1) 80 (2) 256 (3) 100 (4) 160

The digital logic family which has minimum power dissipation is :
(1) TIL (2) RTL

(3) DTL (4) CMOS

The 2' s complement of the number 1101101 is :

(I) 0101110 (2) o111110

(3) 0110010 (4) 0010011

Words having 8-bits are to be stored into computer memory. The
number of lines required for writing into memory are :

(1) 1. 2) 2. 3) 4. 4) 8.

A system of homogeneous linear equation AX = 0 may have a non
trivial solution if :

(1) Ais skew symmetric (2) A is non singular matrix
(3) Ais singular matrix (4) Ais of full rank

17 P.T.O.
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52.

53.

54.

55.

56.

The locus of point of intersection of three mutually perpendicular
tangent planes to a paraboloid is :

(1) a sphere (2) acircle

(3) a plane (4) a straight line

The domain of a real valued function f (x) = — i85
6x—x" -8

(1) R (2) (0.%)

(3) 2,9 4) [2,4]

The function f (x) = cos 2x is decreasing on :

[ p .
(1) |...0.~2—] (2) (0.p)
((pp) (PP
@ 172 @ 3]

If | x ] denotes greatest integer function then the value of the function

[xsinx]atx=%is:

T @ L @) 2 @

The equation to a plane in normal form is :

X Yy Z
—+=+—=1 2] et +nz =
51 S e (2) my p
@) S+l +—=l (4) ax+by+cz+d=0
[ m n -

18
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S8.

59.

60.

61.

62.
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The angle between the linesx =1, v=2andv=-1and z= 0 is :
(1) 90° (2) 30°
(3) ©60° (4) Q°

The centre of the sphere which passes through points (a, 0, 0)
(0, b, 0), (0, O, ¢) and (0, O, O} is :

I(.
m |

~.0. {'JW (2) ((}.2.{} ]

,
[

(3) (a, b, ) (4) ‘

I |

] | 1y

pa | oms
| T

If O be the origin and P (2, 3, 4) and Q (1, b, 1) be two points, then the
value of b, such that OP and OQ are mutually perpendicular is

(1) 2 (2) -2 (3) 1 (4) -1
2 -6 4

The rank of the matrix |1 -3 2 |is:
-1 3 =2

(1) O (2) 1 3) 2 (4) 3

The rank of the linear transformation T:R? —» R?2 given by
T(X:}’)z(x_yay_x)iS:

(1) 0 (2) 1
3) 2 (4) Cannot determine

The general solution of the differential equation ( D’ +3D" + 2D)y =0 s :

(1) e (2) C,ex+C,e™
(B) C +C,ex+C e 4) C,+Ce=+C,e™

19 P.T.O.
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63. I[L[F()|=f(s)thenL|CF(4]is:

(1) s*f(s) (2) sfif(s)
@ 5 W o
64. The general solution of the differential equation ( x + 2y7) f—:—: =V 1S
(1) y=x"+cx C2) x=y'+oy
(3) y=x"+cy (4) x =y +cx

: . ; P
65. The radius of curvature of a curve x = a cos t, v = a sin t at the point t = 7

is given bv :

(1) a 2 1 - (3) 0 @

66. Let [ (x, v) is a homogeneous function of two variables of degrec 2

af or
then the valuc of X v ¥~ 1s:
X cy
(1) f (2) 2f (3) O 4) -f
67. The value of r[l?] is :
. 7
(1) H 2 2 @) p @ Vo

20



68.

69.

70.

71.

72.

16P/301/7

¢ sin™"'"x _
The value of j . OX 18

Ysmt X teost X

2 R
(1) »p @ 3 @ (4 0
_np (1) - . .
[fa =sin —= + =—* n € N, then limit superior of sequence a_is :
n V. I]

(1) lima, =-I (2) lima =0
(3) lima, =1 (4) lima_ = =
Which of the following set is convex :
(1) {(xy):x*+y> 21 2) {(xy):y*2x]
(B) {(x,y):3x*+4y* 25} 4) (xy):y22,y<4]

Let X, and X, are optimal solutions of a linear programming problem,
then-: .

(1) X = ?‘X] ¥ (-1-?) XE-,.? € R gives an optimél solution
(2) X=7X +(1-?) X,, 0 =? <1 gives an optimal solution
(3) X=7X, +(1+?)X, 0<?<1 gives an optimal solution

(4) X=7?2X +(1+?)X,, ? €R gives an optimal solution

The region represented by the inequation system x, vz B v = 6,
x+y<3is:

(1) Unbounded in first quadrant
(2) Unbounded in first and second quadrant

(3) Bounded in first quadrant but unbounded in second quadrant
(4) Bounded in first and second quadrant both

21 P.T.O.
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73.

74.

75,

76.

T

The value of objecuive [unction is maximum under linear constraints :
(I) At the centre of feasible region

(2) At (0, 0)

(3) At any vertex of feasible region

(4) The vertex which is maximum distance from ( 0, 0)

If , is any veclor, then (—1 X |)$ + (H X A|) + (a X 1:) is equal to :
(1) & (2) 24

(3) 3a (4) H4a

If vector b=3i+4k is to be written as the sum of a vector , parallel to

i=1+] and a vector §§ perpendicular to 3, then the vector ;is:

g2 = 200w
m Sl @ Sliti)
T l gz =
@ Slivd) @ L)

A unit vector perpendicular to both i+j and j+k is:

(1) i-j+k (2) i+j+k

@) =liti+k) @ ik

V2 NERR

If O is the origin, OP = 3 with direction ratios proportional to -1, 2, -2
then the coordinates of P are :

(1) (-1, 2,-2) 21 {1,2,2)
(3) (-1/9, 2/9,-2/9) (4) (3, 6,-9)

22
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78. If a line makes angles a.B.?,d with four diagonals of a cube, then

cos’a + cos?3+ cos? 7+ cos?( is equal to :
(1) 1/3 (2) 2/3

(3) 4/3 | (4) 8/3

79. The value of j x (1-x" dxis equal to :

i
0

| 11
(1) 10100 (2) 10100
" 1 . 11
(3) 10010 (%) 11100

r n
80. If1,. = If x'? sinx dx, then the value of I, +90L is:
1]

10
9 i 9 I
p P p p
9 = 10[ = = 9| =
(1) [2] (2) (2) (3) (2} (4) (2/
.[I‘d_ sin™![ 2% i :
81. The value of the 0dx | e dx is equal to :
' p p
(1) o () 6 3 )
e 2i )", s g
82. The least positive integer n such that [EJ 1s a positive integer, is :
(1) 16 (2) 8 3) 4 (4) 2

23 P.T.O.
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83. Ifz=1-cos? +isin?, then |z| is equal to :

9 o
(1) 2sin§ (2) 2(:0342
0 '?

21sin— S~

(3) _sz (4) 2u032

84. Thevalueof (1 +1) '+ (1 -1)1s:

(1) 8 2) 4 (3) -8 (4) -4
i
85. The argument of 10 15
(1) -p/2 (2)  p/2 (3)  3p/2 4) sp/2
86. If (1 + i) (1 +2i)(1+3i) ... ... (L 4 mi) = & + ib then 2.5.10.47 ...
(1 + n?) is equal to :
(1) a-ib Q) a-b?
(3) a’+ b’ i (4) (a+b)’

246\3i |
87. Polar form of the Complex number —_ 5. 1s:
5+ 3

,

(cos?_isin® _ P igin?
(1) z:21}053 151113/ (2) 2_2((1053 1‘_1113/]

p ..p P .. P)
(3) z=2 (\cosg_—lsmg} 4) z=2 [cosg+1sm (jJ

24



88. Iff(x) = (x—a)? + (x -

16P/301/7

b)* + (x — ¢}’ then {(x) has a minimum at :

atb+c
o — (2) Yabe
3 1
(3) i__l+| (4) (l+.]_+l]
1 b ¢ a b ¢
. o : . Cdy dy ) )
89. If v = ¢~ is part of Complementary function ol KJF PEJr Qv = R,
then :
(1) 1+P+Q=0 (2) 1-P-Q=0
3) 1-P+Q=0 4) 1+P-Q=0
90. Particular Integral of d ), + 9y =sin 3x is :
X
(1) —i;—cos3x (2) icos?»x
(3) -'g-sin 3% (4) —isin 3x
dx dy
91. If — +5y=0and — -5x = 0 then :
dt dt
(1) y=A cos 5t-B sin 5t (2) y=Acos 5t + B sin 5t
(3) y=-A cos 5t + B sin 5t (4) y =-A cos 5t-B sin 5t

25

P.T.O.
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92.

93.

94.

95.

[I. G20 & 2
The Laplace transform of the function F (1) = 'l__l Ty where

f(t+4)=1(t)is given by :

“ 1+e™® |-e™ l+e™

(1) S(H-c zs) (2) S(]+e—25) (3) S(l—c”ls)- (4) S_(I_Fj

(¢]

The Laplace transform of the function F (t) = t* e™ is :

(n+1)! n! Fin-t)

['(n) B
(1) (T_l) (2) (s5a) (3) (s+1)

|

Inverse Laplace transform of (g: J__azJ-"- is :

1 ; )
——|sinat — at cos at sinat + at cos at
i goel ] @2 5l ]
o [—Sinat —at cos at] -—]—~[~sinat +al cos a{]
Bl %47 | #) 24

Fourier scries expansion of the function f (x) =xcos X, -p <X <p 1S

. 4sin2x 6sin3x
(1} BILE® —F s -
2 2°-1 3¢ -1

r lsinx+ 4 sin 2;»{_6sir13><+
@ 73 2°-1 =y

lqu_ 4 sin 2x+6sin3x_
B) 3Ff 27-1 gr—1

—lsinx B 4 sin 2x 6 sin 3x B
(4) 3 > e
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)

c°z

. : . : ; : _ 2y
General solution of the Partial differential equation —h X'V where
oXoV

z(x,0)=x*and z (1, y) = cos y is :

2

1
X'y’ +cosy +g3 +14+x°

O\I'-—*

(1) z=

1 5 1
(2) z:gx"'y“+Cosy—6y“'—1—x2

1 ]
(3) z=gx"‘y‘+cosy—éyz—1+x‘*

1 , 1
4) z=-=x’-cosy +gy2+l—x2

6
The Partlcular Integral of [6 z_ 0z
: ox’ 6x8y
0 T 2)
I ()

27

2
68 ] Xy is :
oy?
xy’ x*
6 24
_X 3‘_
6 24
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L - . .
99. The general solution of £ % o %% o €7 o'z _ 0 is :
ext o oxPey  oxay'  ov'
(1) z=f(y-x) +xf,(y-x +L{y+x)+xf{y+x
2) z=f (v-x) +f, (y+x) +xf(y+x +xM [y +x)

B) z=f,y-x)+xfy-x+x*Ly-x)+L{y+x

4) z=fy-x+xf-x)+xfy-x)+x 0 (y-x
100.The given differential equation &y 6D _Q — {j 48 &
ox®  Oxct ot
(1) Elliptic (2) Parabolic
(3) Hyperbolic (4) Not classified

101. Which of the graph uses only one axis to show the data summary ?
(1) Histogram ' (2) Line diagram

(3) Box and whisker plot (4) Frequency polygon
102.Select the most appropriaie alternative from the following :

In pai chart the data summary is shown by -

(1) Sector angle (2) Radius
(3) Sextor area (4) Sector circumference

103.Which of the following are not used to get median of data ?
(1) Frequency polygon
(2) Less than cumulative frequency curve
(3) Ogive
(4) Stem leaf plot
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104.The most suitable graph to compare temporal data is :
(I) Bar diagram (2) Histogram

(3) Line diagram (4) Scatter diagram

105.The height of rectangle in histogram representing frequency
distribution with classes of unequal width are proportional to :
(1) Frequency of the class
(2) Cumulative (less than) frequency of the class
(3) Cumulative (greater than) frequency of the class

(4) Frequency density of the class.

106.In a histogram class interval of highest rectangle is 30-40. Which of

the following is most appropriate statement ?
(1) Mean lies between 30-40.

(2) Median lies between 30-40

(3) Mode lies between 30-40

(4) Mode and median both lies between 30-40

29 P.T.O.
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107.Average temperaturces of city A and city B were measured as 20"C and
40°C respectively. Which of the following statement 1s not true ?
(1) Combined average temperature of the cities was 30°C
(2) City B was twice hotter than city A
(3) The average temperature of city A was smaller then citv B
(4) Both (1) and (2)
108. Data is being collected about opinion of people regarding * Should we
marry our daughters in a family having higher status than ours 2
The data so obtained is called :
(1) Secondary data (2) Quantitative data
(3) Qualitative data (4) Discrete data
109. Qualitative research is often explor:;&on}-' and has all of the following
characteristics except :
(1) Itis typically used when a great deal is already known about the
topic of interest
(2) It relies on the collection of nonnumeric data such as words and
pictures
(3) It is used to generate hypotheses and develop theory about

phenomena in the world

(4) It uses the inductive scientific method
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110. Which of the following is not used directly in qualitative data ?

(1)

(3)

Median (2) Proportion

Ratio (4) Arithmetic mean

111. In a survey of 50 households 30 households were having at least one

literate person. Among at least one literate households 70 % while

among other households 20 % were having at least one person in job.

The percentage of households having at least one person in job was :

(1)

45 (2) 50 (3) 40 (4) 55

112. Choose the most appropriate alternative from the following :

Primary data is :

(1)
(2)

(3)

(4)

Collected only when we have related secondary data
Collected for the first time for a specific purpose

The information that already exists in the form of grouped

frequency

That data which may have been collected for some other purposes

but being used for the first time for the present purpose

31 P.T.0,
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113. Census report used as a data is :
(1) Primary data if used for the first time
(2) Primary data whenever used for the first time for a new problem
(3) Secondary data

(4)  Sccondary data if it is used earlier by someone lor same problem

114.The arithmetic mean of marks of 10 students was /70 while the
arithmetic mean of marks of first 9 students was also 70. The marks

of tenth students was :

1y o 2) 65 3) 10 (4) 70

115.Let X, i= 1, 2 ...... . n denotes a data set and its mean, median and
mode are 10, 15 and 20 respectively. Which of the following sum will

be smallest ?

(1) Y0 (X -15) @ X (X-10)
3) X" (X, -20) @ X(X-0)
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116. [f value of each observation in increased by 10 then standard deviation
will.
(1) Increase (2) Decrease

(3) Either increase or decrease (4) Neither increase or decrease

117.For a certain data set X, if Z(X—20]= QS,Z(X—25)20, and
2.(X-30)=-25, then mean of X is equal to :

(1) 20 (2) 60 (3) 35 (4) 25

118. Which measure of central tendency will be more suitable for following

data set :
2,4,5,6:7;4,5,6,7,9,°10, 12.50
(1) Mean (2) Median

(3) Mode (4) Quartile

119.1f a test was very easy, except for a few students who had very low

scores, then the distribution of scores would be :
(1) Positively skewed (2) Negatively skewed

(3) Normal (4) None of these

33 P.T.0.
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120. Which of the following cannot be negative ?
(1) Mean (2) Median

(3) Mode (4) range

121.The age of 5 children are 1, 2, 3, 4, 5 years. Variance of age 1s :
(1) 2 vears (2) 3 vears

(3) 4 vears (4) 5 vears

122.The daily maximum temperature of Varanasi city was rccorded n
Celsius for all 31 days of April 2015. The arithmetic mean and geometric
mean of these 31 observations were found to be 45° C (degree Celsius)
and 40° C respectivelyv. A 'C’ degree Celsius temperaturc is equal to
'F' degree Fahrenheit (°F) where F = 32 + 9 C/5. If the above data

would have been measured in Fahrenheit,

31 : The arithmetic mean would have been 113°F.
3 . 0

S2 : The geometric mean would have been 104°F.

Choose vours answer from the following codes :
(1) Both S1 and S2 are correct.
(2) Sl is correct but S2 is false.
(3) S1 is false but S2 is correct.

(4) Both S1 and S2 are false.
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123.1f the random variables X and Y are such that Y = X?, then the Pearson's

correlation coefficient between X and Y

(1)  Will be always zero

(2)  Will be always positive and greater than zero

(3)  May be negative, if equally spaced non-negative values of X and
corresponding values of Y are taken as data |

(4) May be positive, negative or zero depending on the choice values

of X and corresponding values of Y

124.An urn contains 'a' white and 'b' black balls. A ball is drawn at random
and kept aside without noticing its colour. Then a ball is drawn at

random from the remaining balls. The probability of this ball being

white is :
(1) (a-1)/(a+b) (2) a/(a+b)
(3) (a-1)/(a+b-1) 4) a/(@+b-1)

125.1f X is distributed as chi-square with n degrees of freedom, the

asymptotic distribution of ,/(2x) is normal with.

(1) Mean 0 and variance 1 (2) Mean 2n and variance 1

(3) Mean /(2n) and variance 1 (4) Mean /(2n) and variance 4n

35 P.T.0.
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126. From population of size 100, a simple random sample drawn by using

127.

without replacement method has the observations as 4, 2, 2, 4 and 3.

Assertion (A) : The sample total 15 is not unbiased estimate of

population total.

Reason (R) : The given sample cannot be a simple random sample

drawn by using without replacement method.

Select vour answer from the following codes :
(1) Both A and R is truc and R is correct explanation of A

(2) Both A and R is true but R is not correct explanation ol A
(3) A is false but R is true

(4) A is truc but R is false

X, is a random sample from normal population with

known mean 9 and unknown variance g°.

S1 s (B K, ¥ e + X )#/nj—9n is not unbiased estimator of 5’

e . . . ’ 2
S2 - The only unbiased estimator of 2 is { ( Xj + X5 + ... + X2)-—

(X * Xyt e +X )*/ nj/ (n-1)

Choose your answer from the following codes :
(1) Both S1 and S2 are correct (2) S1is correct but S2 is false

(3) Sl is false but S2 is correct (4) Both S1 and S2 are false

36
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A random variable X has mean 10 and variance 25 and Y = aX-hbisa
standardized variable having mean zero and unit variance, then the

value of a and b are respectively :

(1] 02,72 (2) 02,05
(3) 2,0.2 (4) .5,0.2
3X +4Y =11 and 4X + 3Y = 10 are the cquations of the pair of

regression lines for a given data. Then :

(1) 3X+4Y =11 1s the equation of regression of X on Y.
(2) 4X + 3Y = 10 is the equation of regression of Y on X.
(3) Correlation coefficient between X and Y is 0.75.

(4) Variance of X and Y are equal.

A random variable X has the cumulative distribution function F(x)

given below :
F(x) =0,ifx <0
=x,1f0<x<1

1,if 1 <x

The probability density function corresponding to F(x), if it exists, is
denoted by f (x). Then :

S:f(x)=1,if0<x <l
= 0, elsewhere
P . F (x) is discontinuous at x = 0 and x=1.
Choose your answer from the following codes :

(1) Both S and P are true (2) Sis true but P is false

(3) Sis false but P is true (4) Both S and P are false
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131. Which of the fbllowing pair (A, B) of events is mutually exclusive, in

the random experiment of tossing of a coin four times ?

(1) A : Obtaining at least two heads, B : Obtaining at most two tails.

(2)- A : Obtaining at least two heads, B : Obtaining at least two tails.

(3) A : Obtaining at least three heads, B : Obtaining at most threc
tails.

(4) A : Obtaining at least three heads, B : Obtaining at least three

tails.

132.Read the following statements :

S1 : Classical definition of probability sometimes fails to provide the
measure of uncertainty even when the sample space (space of

outcomes) is discrete and finite.

S2 - Statistical definition only provides a frequentist’s interpretation
of probability.

Choose the most appropriate answer from the following codes :

(1) Both S1 and 52 afe correct.

(2) S1 is correct but S2 is incorrect.

(3) Slis incorrect but S2 is correct.

(4) Neither S1 nor S2 are correct,

38
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An unbiased coin is tossed until a head is obtained or the total number
of tosses becomes 7. An event ‘A’ is defined as' The coin is tossed at

least 3 times'. In this context read the following statements carefully :
S1 : The total number of mutually exclusive and exhaustive outcomes is 8.
52 : The number of outcomes favourable to the event A is 3.

Choose the correct answer from the following codes :
(1) Both S1 and S2 are correct.

(2) S1 is correct but S2 is incorrect.

(3) Sl is incorrect but 82 is correct

(4) Neither S1 nor S2 are correct.

In an examination the percentage of male and female candidates are
60 and 40 respectively. If 80 percent of the students have passed the

examination, the percentage of females passing the examination is at

least.
(1) 20 percent (2) 50 percent
(3) 80 percent (4) 100 percent

39 P.T.O.
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135.A and B are two events. 3 and g denote the compliment of A and B

136.

respectively. The event C denotes the happening of exactly one out of
A and B.
s1: C=(ANB)U(ANB)

.c=(AUB)N(AUB)

w
[R]

S

£y
e

- P(C) = P(A) + P (B) - 2P (A ) B)
(1) Only S1 and S2 are true. (2) Only S2 and S3 are true.

(3) Only S1 and S3 are true. (4) S1, S2 and S3 all are true.

Five sticks of length 1, 3, 5, 7 and 9 mcters are given. Three are
scleeted at random. The probability that selected sticks can form a

triangle is :

(1) 1/10 (2) 2/10 (3) 3/10 (4) 4/10

137.Which of the following pair (A, B) of events is mutually exclusive, in

the random experiment of tossing of a coin four times z

(1) A : Obtaining at least two heads, B : Obtaining at most two tails

(2) A: Obtaining at least two heads, B : Obtaining at least two tails

(3) A : Obtaining at least three heads, B : Obtaining at most three
tails

(4) A : Obtaining at least three heads, B : Obtaining at least three

tails
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138.Read the following statements -

S1 : Classical definition of probability sometimes fails to provide the
measure of uncertainty even when the sample space (space of

outcomes) is discrete and finite.

oo
I

: Statistical definition only provides a frequentist's interpretation

of probability.

Choose the most appropriate answer from the following codes :
(1) Both S1 and S2 are correct.

(2) Sl is correct but S2 is incorrect

(3) S1isincorrect but S2 is correct

(4) Neither S1 nor S2 are correct

139.An unbiased coin is tossed until a head is obtained or the total number
of tosses becomes 7. An event 'A’ is defined as' The coin is tossed at
least 3 times'. In this context read the following statements carefully :

S1 : The total number of mutually exclusive and exhaustive outcomes 1s 8.
S2 : The number of outcomes favourable to the event A is 3.

Choose the correct answer from the following codes :
(1) Both S1 and S2 are correct

(2) S1 is correct but S2 is incorrect

(3) Sl is incorrect but S2 is correct

(4) Neither S1 nor S2 are correct
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140.The operation in which the CPU waits for a device to be ready for an 1/
O operation is :
(1) Buffering (2) “Spooling
(3) Polling (4) DMA

141. The amount of ROM needed to implement a 4 bit multiplier is :
(1) 64 bits (2) 128 bits
(3) 1 Kbits (4) 2 Kbhits

142.How many distinct binary search trees can be carried out of 4 distinct
keys ?

(1) & 2) 14 (3) 24 4) 42

143.Consider the events A and B such that P (A)= 1, P(B | A)= 1, and P
(A | B)= 1, The random variables X and Y are defined as

X (w)=1,ifw gA
= 0, otherwise
and
Y(w)=1,ifw gB
= 0, otherwise

which of the following is true ?
(1) PX=0NY=0)=5/8 2) PX=0NY=1=1/8
3) PX=1NY=0)=23/8 @4 PX=1NY=1=1/8
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144.The distribution function of any random variable is

S1 : always right continuous.

S2 : may be discontinuous at countable number of points

S3 : monotone non-increasing.

Chose the correct answer from the following :
(1) S1 and S2 are true but S3 is false
(2) S2 and S3 are true but S1 is false
(3) S1 and S3 are true but S2 is false

(4) S1 and S2 and S3 all are true

145.The probability mass fﬁnction of a random variable X is given below :

f(x)=x/15; x=1,2,3,4,5

= 0 ; otherwise.

Then the conditional probability that X lies between % and 3, given

that X is greater than 1 is :

{1} LfF (2) 3/7 (3) 2/15 (4) 1/5

43 P.T.O.
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146.Read the following statements carefully in context of the function

147.

given below :
F (x)

Il

0 1fx<0O
= 3¢?, Ffhexsl”
=4¢c - 7c?, ifl <x<?2
=0Q9¢c-7c?-1, if2<x<3
=1, i 3e %

Assertion (A) @ F (x) can be cumulative distribution function of a
continuous positive random variable for properly chosen value of ¢

Reason (R) : For proper choice of 'c, F (x) 1s monotone and bounded
between 0 and 1. Select your answer from the following codes :

(1) Both A and R is true and R is correct explanation of A

(2) Both A and R is true but R is not correct explanation of A
(3) A is true but R is false

(4) A is false but R is true

Read the following statements carcfully
S1 : Poisson distribution is limiting case of Binomial distribution.

S2 : Poisson distribution is limiting case of Negative Binomial
distribution.

S3 : Geometric distribution is special case of Negative Binomial
distribution. -

Choose the correct answer from the following :
(1) S1 and S2 are true but S3 is false
(2) S2 and S3 are true but S1 is false
(3) S1 and S3 are true but S2 is false

4) SI and S2 and S3 all are true
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148.X is a standard normal distribution. Define.

v X iIx|<1
XX >1

Then the distribution of Y is :
(1) Uniform over (0, 1)

(2)  Uniform over (-1, 1)

(3) Standard normal

(4) Normal but other than standard normal

149.S is the set of i)ositive real numbers less than or equal to 6 i.e.
S = {x:0<x<6}. If A = (x:1<x<3}, B = {x:2<x<6} C =

ix:3 Sx<5} and D = {x:OSx<2} which of the following is not

correct :
(1) AUBz{x:1£xs6} (2) BUD=S
(3) ANB={x:2<xx<3) 4) CcNB=C

45 P.T.O.
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150.1n a laboratory, an experiment is repeated everyday till itis successful ;
the probability of success is 'p'. The experiment starts on Monday,
then the probability that the process of repetition end on Sunday 1s :
(1) p(1-pp 2) p(1-p)f°
(3) (I-ppP (4) (1-pf°

46 500
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ROUGH WORK
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